

Нехомогени линеарни

$$y'(x) = Ay(x) + \underbrace{g(x)}_{\text{нехомогени гео}}$$

линеарни гео

$$\text{оп: } y(x) = \underbrace{y_H(x)}_{\text{однородни рен. хом.}} + \underbrace{y_P(x)}_{\text{варијабилно нехомогено}}$$

$$(*) \quad g(x) = P_s[x] \cdot e^{\mu x}, \quad \mu \in \mathbb{R}$$

$$s = \text{st}(P_s[x]) = \text{deg}(P_s[x]) \in \mathbb{N}_0$$

$$\left. \begin{array}{l} \\ \\ \end{array} \right\} \Rightarrow y_P(x) = Q_{m+s}[x] \cdot e^{\mu x}$$

m = висина степена броја μ као решења карактеристичне једначине од A

$$\textcircled{1} \quad \text{a) } \begin{cases} y_1' = 2y_1 + y_2 + xe^x \\ y_2' = -y_1 + 2y_2 - e^{2x} \end{cases}$$

$$\text{б) } \begin{cases} y_1' = 2y_1 + y_2 + 2e^x \\ y_2' = y_1 + 2y_2 - 3e^{4x} \end{cases}$$

$$\text{a) } y = \begin{bmatrix} y_1 \\ y_2 \end{bmatrix}$$

$$y' = Ay + g$$

$$A = \begin{bmatrix} 2 & 1 \\ -1 & 2 \end{bmatrix}$$

$$g = \begin{bmatrix} xe^x \\ -e^x \end{bmatrix} = \begin{bmatrix} x \\ -1 \end{bmatrix} \cdot e^x$$

$$\text{хомогена: } y' = Ay$$

$$\det(A - \lambda E) = 0 \Rightarrow \lambda_{1/2} = 2 \pm i$$

$$\lambda_1 = 2 + i \rightarrow (A - \lambda_1 E)v_1 = 0 \Rightarrow v_1 = \begin{bmatrix} 1 \\ i \end{bmatrix}$$

$$\varphi(x) = \beta_1 e^{\lambda_1 x} = e^{2x} \cdot \begin{bmatrix} \cos x + i \sin x \\ i \cos x - \sin x \end{bmatrix} \begin{matrix} \rightarrow \text{Re} \\ \rightarrow \text{Im} \end{matrix}$$

$$\text{опх: } y_H(x) = c_1 e^{2x} \begin{bmatrix} \cos x \\ -\sin x \end{bmatrix} + c_2 e^{2x} \begin{bmatrix} \sin x \\ \cos x \end{bmatrix}$$

$c_1, c_2 \in \mathbb{R}$

$$\text{нехомогени: } g(x) = \begin{bmatrix} x \\ -1 \end{bmatrix} \cdot e^{\mu x}$$

$$M = 1 \text{ није реш. } \det(A - \lambda E) = 0$$

НЕГОМОГЕННИ: $g(x) = \begin{bmatrix} x \\ -1 \end{bmatrix} \cdot e^{\mu x}$ $\begin{matrix} \text{"} \\ P_s[x] \end{matrix}$ $\begin{matrix} \mu=1 \\ s=1 \end{matrix}$. $\begin{matrix} \mu=1 \text{ nije pecu.} \\ \det(A-\lambda E)=0 \\ (\lambda_{1,2}=2\pm i) \end{matrix} \Bigg\} \mu=0$
 (μ nije covic. bp og A)

$$y_p(x) = Q_{s+\mu}[x] \cdot e^{\mu x} = Q_1[x] \cdot e^x = \begin{bmatrix} a_1 x + b_1 \\ a_2 x + b_2 \end{bmatrix} \cdot e^x \Rightarrow y_p' = A y_p + g$$

$$\begin{bmatrix} a_1 x + b_1 + a_1 \\ a_2 x + b_2 + a_2 \end{bmatrix} \cdot e^x = \begin{bmatrix} 2 & 1 \\ -1 & 2 \end{bmatrix} \begin{bmatrix} a_1 x + b_1 \\ a_2 x + b_2 \end{bmatrix} \cdot e^x + \begin{bmatrix} x \\ -1 \end{bmatrix} \cdot e^x$$

$$\begin{bmatrix} a_1 x + b_1 + a_1 \\ a_2 x + b_2 + a_2 \end{bmatrix} = \begin{bmatrix} 2a_1 x + 2b_1 + a_2 x + b_2 + x \\ -a_1 x - b_1 + 2a_2 x + 2b_2 - 1 \end{bmatrix} \quad \forall x \in \mathbb{R} \Rightarrow$$

$$\begin{aligned} a_1 &= 2a_1 + a_2 + 1 \\ b_1 + a_1 &= 2b_1 + b_2 \\ a_2 &= -a_1 + 2a_2 \\ b_2 + a_2 &= -b_1 + 2b_2 - 1 \end{aligned}$$

$$\begin{aligned} a_2 - a_1 &= 0 \\ a_1 + a_2 &= -1 \\ \hline a_2 = -\frac{1}{2}, a_1 = -\frac{1}{2} \end{aligned}$$

$$\begin{aligned} b_1 + b_2 &= -\frac{1}{2} \\ b_2 - b_1 &= \frac{1}{2} \\ \hline b_2 = 0, b_1 = -\frac{1}{2} \end{aligned}$$

$$y_p(x) = \begin{bmatrix} -\frac{x}{2} & -\frac{1}{2} \\ -\frac{x}{2} & \end{bmatrix} \cdot e^x$$

op: $y(x) = y_H(x) + y_p(x)$.

б) $A = \begin{bmatrix} 2 & 1 \\ 1 & 2 \end{bmatrix}$

$y = \begin{bmatrix} y_1 \\ y_2 \end{bmatrix}$ $y' = Ay + g$

$g = \begin{bmatrix} 2e^x \\ -3e^{4x} \end{bmatrix}$ $\rightarrow g(x) = P_s[x] \cdot e^{\mu x}$ *nije moznice!*

$A \rightarrow \lambda_1 = 1, \lambda_2 = 3$
 \downarrow \downarrow
 $\xi_1 = \begin{bmatrix} 1 \\ -1 \end{bmatrix}$ $\xi_2 = \begin{bmatrix} 1 \\ 1 \end{bmatrix}$
 \downarrow \downarrow
 Γ_{e^x} \dots $\Gamma_{e^{3x}}$

$g(x) = g_1(x) + g_2(x) =$
 $= \begin{bmatrix} 2e^x \\ 0 \end{bmatrix} + \begin{bmatrix} 0 \\ -3e^{4x} \end{bmatrix}$

$g_1 = \begin{bmatrix} 2e^x \\ 0 \end{bmatrix} = \begin{bmatrix} 2 \\ 0 \end{bmatrix} \cdot e^x \rightarrow y_p(x)$

$$\gamma_1 = [-1] \quad \gamma_2 = [1]$$

$$\left. \begin{array}{l} \gamma_1 \\ \gamma_2 \end{array} \right\} \Psi_1(x) = \begin{bmatrix} e^x \\ -e^x \end{bmatrix}, \quad \left. \begin{array}{l} \gamma_1 \\ \gamma_2 \end{array} \right\} \Psi_2(x) = \begin{bmatrix} e^{3x} \\ e^{3x} \end{bmatrix}$$

$$g_1 = \begin{bmatrix} 2e^x \\ 0 \end{bmatrix} = \begin{bmatrix} 2 \\ 0 \end{bmatrix} \cdot e^x \rightarrow \underline{Y_{P1}(x)}$$

$$g_2 = \begin{bmatrix} 0 \\ -3e^{4x} \end{bmatrix} = \begin{bmatrix} 0 \\ -3 \end{bmatrix} \cdot e^{4x} \rightarrow \underline{Y_{P2}(x)}$$

$$\underline{Y_P(x)} = \underline{Y_{P1}(x)} + \underline{Y_{P2}(x)}$$

g₁(x): $g_1(x) = \begin{bmatrix} 2 \\ 0 \end{bmatrix} \cdot e^x \Rightarrow s=0$
 $\mu=1 \xrightarrow{(\lambda_1=1)} \mu=1 \left\{ \Rightarrow Y_{P1}(x) = Q_1[x] \cdot e^x = \begin{bmatrix} a_1x + b_1 \\ a_2x + b_2 \end{bmatrix} \cdot e^x$

$$Y_{P1}' = AY_{P1} + g_1$$

$$e^x \cdot \begin{bmatrix} a_1x + b_1 + a_1 \\ a_2x + b_2 + a_2 \end{bmatrix} = \begin{bmatrix} 2 & 1 \\ 1 & 2 \end{bmatrix} \begin{bmatrix} a_1x + b_1 \\ a_2x + b_2 \end{bmatrix} \cdot e^x + \begin{bmatrix} 2 \\ 0 \end{bmatrix} \cdot e^x$$

$$\begin{array}{l} a_1 + a_2 = 0 \\ a_1 + a_2 = 0 \\ a_2 = -a_1 \end{array} \quad \begin{array}{l} a_1 = 2a_1 + a_2 \\ b_1 + a_1 = 2b_1 + b_2 + 2 \\ a_2 = a_1 + 2a_2 \\ b_2 + a_2 = b_1 + 2b_2 \end{array} \quad \begin{array}{l} b_1 + b_2 = a_1 - 2 \\ b_1 + b_2 = a_2 = -a_1 \end{array}$$

$$a_1 - 2 = -a_1 \Rightarrow a_1 = 1 \Rightarrow b_1 + b_2 = -1$$

$$b_2 = -1 - b_1$$

nurp. $b_1 = 0$
 $b_2 = -1$

$$Y_{P1}(x) = \begin{bmatrix} x \\ -x - 1 \end{bmatrix} \cdot e^x$$

g₂(x): $g_2(x) = \begin{bmatrix} 0 \\ -3 \end{bmatrix} \cdot e^{4x} \Rightarrow s=0$
 $\mu=4 \Rightarrow \mu=0 \Rightarrow Y_{P2} = Q_0[x] \cdot e^{4x} = \begin{bmatrix} \alpha \\ \beta \end{bmatrix} \cdot e^{4x}$

$$Y_{P2}' = AY_{P2} + g_2$$

$$\begin{bmatrix} \alpha \\ \beta \end{bmatrix} \cdot 4 \cdot e^{4x} = \begin{bmatrix} 2 & 1 \\ 1 & 2 \end{bmatrix} \begin{bmatrix} \alpha \\ \beta \end{bmatrix} \cdot e^{4x} + \begin{bmatrix} 0 \\ -3 \end{bmatrix} \cdot e^{4x}$$

$$4\alpha = 2\alpha + \beta$$

$$4\beta = \alpha + 2\beta - 3$$

$$\begin{aligned} \beta - 2\alpha &= 0 & \Rightarrow \beta &= 2\alpha \\ 2\beta - \alpha + 3 &= 0 & 4\alpha - \alpha + 3 &= 0 \\ & & \alpha &= -1, \beta = -2 \end{aligned}$$

$$y_{P2} = \begin{bmatrix} -1 \\ -2 \end{bmatrix} \cdot e^{4x}$$

$$\text{OP: } y(x) = \underbrace{c_1 \begin{bmatrix} e^x \\ -e^x \end{bmatrix} + c_2 \begin{bmatrix} e^{3x} \\ e^{3x} \end{bmatrix}}_{y_H(x)} + \underbrace{\begin{bmatrix} x \\ -x-1 \end{bmatrix} \cdot e^x + \begin{bmatrix} -1 \\ -2 \end{bmatrix} \cdot e^{4x}}_{y_P(x)}, \quad c_1, c_2 \in \mathbb{R}$$

$$\textcircled{2} \quad \begin{cases} y_1' = y_2 + \tan^2 x + 1 \\ y_2' = -y_1 + \tan x \end{cases} ?$$

$$y = \begin{bmatrix} y_1 \\ y_2 \end{bmatrix}$$

$$A = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix}$$

$$g(x) = \begin{bmatrix} \tan^2 x + 1 \\ \tan x \end{bmatrix} = \begin{bmatrix} \frac{\sin^2 x}{\cos^2 x} + \frac{\cos^2 x}{\cos^2 x} \\ \tan x \end{bmatrix} = \begin{bmatrix} \frac{1}{\cos^2 x} \\ \tan x \end{bmatrix}$$

$$y' = A(x) \cdot y$$

$$\text{OP: } y(x) = \Phi(x) \cdot c, \quad c \in \mathbb{R}^n$$

↳ фундаментальная матрица

$$y' = A(x) \cdot y + g(x)$$

$$y(x) = \Phi(x) \cdot \left(c + \int \Phi^{-1}(x) \cdot g(x) dx \right)$$

$$= \underbrace{\Phi(x) \cdot c}_{y_H(x)} + \underbrace{\Phi(x) \cdot \int \Phi^{-1}(x) \cdot g(x) dx}_{y_P(x)}$$

$$y_H? \leftarrow \Phi(x)$$

$$\begin{cases} y_1' = y_2 \\ y_2' = -y_1 \end{cases}$$

$$y_1'' = y_2' = -y_1 \Rightarrow y_1'' + y_1 = 0 \leadsto \begin{cases} y_1 = c_1 \cos x + c_2 \sin x \\ y_2 = y_1' = -c_1 \sin x + c_2 \cos x \end{cases} \Rightarrow y = c_1 \cdot \begin{bmatrix} \cos x \\ -\sin x \end{bmatrix} + c_2 \cdot \begin{bmatrix} \sin x \\ \cos x \end{bmatrix}$$

$\begin{matrix} \varphi_1(x) & \varphi_2(x) \end{matrix}$

$$\Phi(x) = \begin{bmatrix} \cos x & \sin x \\ -\sin x & \cos x \end{bmatrix}$$

$$A = \begin{bmatrix} a & b \\ c & d \end{bmatrix} \leadsto A^{-1} = \frac{1}{ad-bc} \cdot \begin{bmatrix} d & -b \\ -c & a \end{bmatrix}$$

$$w(x) = \det \Phi(x) = \cos^2 x - (-\sin^2 x) = 1$$

$$\Phi^{-1}(x) = \begin{bmatrix} \cos x & -\sin x \\ \sin x & \cos x \end{bmatrix}$$

$$\int \Phi^{-1}(x) \cdot g(x) dx = \int \begin{bmatrix} \cos x & -\sin x \\ \sin x & \cos x \end{bmatrix} \cdot \begin{bmatrix} \frac{1}{\cos^2 x} \\ \tan x \end{bmatrix} dx =$$

$$\int \begin{bmatrix} 1 & -\frac{\sin^2 x}{\cos^2 x} \\ \sin x & \cos x \end{bmatrix} dx$$

$$= \int \begin{bmatrix} \frac{1}{\cos x} - \frac{\sin^2 x}{\cos x} \\ \frac{\sin x}{\cos^2 x} + \sin x \end{bmatrix} dx = \int \begin{bmatrix} \cos x \\ \sin x + \frac{\sin x}{\cos^2 x} \end{bmatrix} dx =$$

$$= \begin{bmatrix} \int \cos x dx \\ \int \left(\sin x + \frac{\sin x}{\cos^2 x} \right) dx \end{bmatrix} = \begin{bmatrix} \sin x \\ -\cos x + \frac{1}{\cos x} \end{bmatrix} = \begin{bmatrix} \sin x \\ \frac{1 - \cos^2 x}{\cos x} \end{bmatrix} = \begin{bmatrix} \sin x \\ \frac{\sin^2 x}{\cos x} \end{bmatrix}$$

$$\int \frac{\sin x}{\cos^2 x} dx = \int \frac{-dt}{t^2} = \frac{1}{t} + C = \frac{1}{\cos x} + C$$

$\cos x = t$
 $dt = -\sin x dx$

$$Y_p(x) = \begin{bmatrix} \cos x & \sin x \\ -\sin x & \cos x \end{bmatrix} \cdot \begin{bmatrix} \frac{\sin x}{\cos x} \\ \frac{\sin^2 x}{\cos x} \end{bmatrix} = \begin{bmatrix} \cos x \frac{\sin x}{\cos x} + \frac{\sin^2 x}{\cos x} \\ -\sin^2 x + \cos^2 x \end{bmatrix} = \begin{bmatrix} \frac{\sin x}{\cos x} (\cos^2 x + \sin^2 x) \\ 0 \end{bmatrix} = \begin{bmatrix} \tan x \\ 0 \end{bmatrix}$$

$$\text{OP: } y(x) = \begin{bmatrix} \cos x & \sin x \\ -\sin x & \cos x \end{bmatrix} \cdot C + \begin{bmatrix} \tan x \\ 0 \end{bmatrix}, \quad C \in \mathbb{R}^2$$

Указатели матрице

$$A \in M_n(\mathbb{R}) \quad \rightsquigarrow \quad \exp: M_n(\mathbb{R}) \rightarrow M_n(\mathbb{R})$$

$$\exp(A) = e^A = \sum_{k=0}^{\infty} \frac{A^k}{k!}$$

$$\left[e^x = \sum_{k=0}^{\infty} \frac{x^k}{k!} \right]$$

$$y' = py \quad \rightsquigarrow \quad y(x) = e^{px} \cdot c$$

$$\rightarrow y' = Ay \quad \rightsquigarrow \quad y(x) = e^{Ax} \cdot c$$

Общие свойства: $(\forall A, B \in M_n(\mathbb{R}))$

$$(1) \quad \frac{d}{dx}(e^{xA}) = A e^{xA}$$

$$(2) \quad AB = BA \Rightarrow e^{A+B} = e^A \cdot e^B$$

$$(3) \quad AB = BA \Rightarrow A e^B = e^B A$$

$$(4) \quad \det(e^A) = e^{\text{tr} A}$$

$$e^{B^{-1}AB} = \sum_{k=0}^{\infty} \frac{(B^{-1}AB)^k}{k!} = \sum_{k=0}^{\infty} \frac{B^{-1}A^k B}{k!} = B^{-1} \cdot \left(\sum_{k=0}^{\infty} \frac{A^k}{k!} \right) \cdot B = B^{-1} \cdot e^A \cdot B.$$

$$\begin{aligned} (B^{-1}AB)^k &= \overset{1}{(B^{-1}A \overset{2}{B})} \overset{2}{(B^{-1}A \overset{2}{B})} \dots \overset{k}{(B^{-1}A \overset{2}{B})} = \\ &= B^{-1} \overset{1}{A} \underset{\text{"E}}{(BB^{-1})} \overset{2}{A} \underset{\text{"E}}{(BB^{-1})} \dots \underset{\text{"E}}{(BB^{-1})} \overset{k}{A} B = \\ &= B^{-1} \underbrace{AA \dots A}_k AB = B^{-1}A^k B. \end{aligned}$$